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To visualize the volume of  
rectangular prisms with  
fractional edge lengths,  
you must follow  
at least two steps.

1   cm

1   cm

	 1.	Determine how many fractional  
		  unit cubes fit inside a whole unit cube.

The prism’s 
dimensions 
use half 
centimeters. 
How many  
  –cm cubes 
fill a 1 cm 
cube? 

Each dimension fits twice as many  
(2 × 2 × 2), so a 1-cm cube fits 8    –cm 
cubes. That means the volume of each    
   –cm cube is    cm3.

Sometimes you will need to find the least common denominator first.
Convert dimensions using LCD:

2    × 1    × 2   .

Determine 6 × 6 × 6, or  
216    –cm cubes fit inside  
a 1–cm cube.

Reimagine dimensions in  
  -cm cubes:  
16 × 9 × 14 = 2,016.  
2,016    -cm cubes ×      cm3 per 
cube = 9    cm3 volume.

	 2.	Determine how many fractional  
		  unit cubes fit inside the rectangular prism.

Reimagine the  
figure in fractional 
unit cubes. Express 
the dimensions in 
terms of total  
fractional units:  
3 × 3 × 4. That  
means 36     -cm 

cubes fit in the rectangular prism.

To express that volume in cm3, multiply by  
   cm3 per cube.

36 ×     = 4   cm3

When you do not 
need to visualize 
unit cubes, you can 
convert dimensions 
to improper fractions 
and use the volume 
formula instead.

VV = ll × ww × hh

VV =     ×     ×     

VV =   

VV = 9    cm3
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